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How does incremental backup 

differ from full backup 

 

Incremental backup only backs up 

files that have changed since the 

last backup, while full backup 

makes a copy of all the files on a 

system. 

What are the three types of 

operators commonly used in 

programming languages 

 

The three types of operators 

commonly used in programming 

languages are arithmetic operators, 

relational operators, and Boolean 

operators. 

What is the binary representation of 

the hexadecimal number D7 

 

The binary representation of the 

hexadecimal number D7 is 

11010111. 

What is the 8-bit binary 

representation of the decimal 

number 38 

 

The 8-bit binary representation of 

the decimal number 38 is 00100110. 

What is the denary equivalent of 

the binary number 1010 

 

The denary equivalent of the binary 

number 1010 is 10. 

What is the hexadecimal 

representation of the decimal 

number 255 

 

The hexadecimal representation of 

the decimal number 255 is FF. 

 


